Combining Transformations

—

Graph the function= |x| . ) Apply the following transformations in the order they

are given. After eachstep, use mapping notation to describe the transformation

from the original function.

Q- A vertical stretch by a factor of 3.
@ * A horizontal stretch by a factor of 2. /Q(Y\A\
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= |x|. Apply the following transformations in the order they |,
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Graph the function

are given. After each step, use mapping notation to describe the transformation

from the original function.

O Y= Ix]

@ * A horizontal stretch by a factor of 2.
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Did the order in which you performed the stretches change the resulting image? /U 0 V
= x2. Apply the following transformations in the order they

are given. After each step, use mapping notation to describe the transformation

from the original function.
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Graph the function @ 9’5 X

@- A vertical translation of 2 down.
@ * A vertical stretch by a factor of@
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= x2. Apply the following transformations in the order they
are given. After each step, use mapping notation to describe the transformation

from the original function.
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Did the order in which you performed the stretches change the resulting image?
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The function ¥ = f(x) is transformed to the function 9(x) = —2f(2x +6) — 1,
Describe the transformations that were applied to ¥ = f ().

Example 2

A key point (-1, 2) lies on the graphy = f(x). What is its image point under the

following transformation of the graph of ¥ = f(x)?

y=1=35f(-32-1



Example 3

1
The graph of ¥ = f(%) is given. Sketch the grapt(of¥ + 2= ~fG(x+2))
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